LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

Mac Quantum Profile Parts List

Item

02205302
04401102
04401106
05020040
05061018
05222804
05523002
05701207
05701208
05701627
05701661
05701810
05703602
05741602
05742221
05749004
05801011
05803002
08050702
08050714
08050802
08050803
08050804
08050805
08050807
08050808
08050812
08052701

Description

DFSTN 128x64 SPI/Par,Neg, ST7565R,White BI.
Magnet 2x2x2 mm w. red mark

SmCo magnet ¢2,8x1,5

FUSE, 6.3 x 32 mm, 20AT, 250VAC
Thermal gap filler 7.5x13x2

Speakon Mains NAC3MPA chas.

Mains switch 2 pole Rev A

Step motor 14PM-MO060BT03CN ©5/8
Step motor 14PM-M060BT04CN ©5/9 D
Step motor 17PM-K350BNO3CA @5/15 D
Step motor 17PM-K153-03VS @5/18 D
Step motor 23HS3053-06 ©¥8/24 2D

Step motor 17HF1001-01 ©¥5/12 D

Fan 60x60x25 4 wire 24V

Blower Delta BFB1024HH-8B43

Guard for 2.25(60mm)Fan,bl

Battery Lithium 3V CR123A 1550mAh
Battery holder cover for Keystone 1029
M3x6 ph torx black

M3x16 ph torx black

M3x6 cs torx black

M3x8 cs torx black

M3x8 cs torx tapt black

M3x10 cs torx tapt black

M3x4 cs torx black

M3x6 cs torx tapt black

M3x16 cs torx black

M3 nut lock PA shiny


http://www.lightparts.com/

LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

08053810
08054307
08070700
08070708
08070709
08070710
08070801
08070806
08071501
08071506
08072701
08074301
08090701
08090704
08090705
08090706
08090708
08091210
08094306
08114301
08200107
08200128
08200130
08200131
08200134
08200137
08220110
08220115
08220116
08220407

M3x12 stand off m6/f7 black
M3 washer 3,2/9x0,8 black
M4x6 bh torx black

M4x8 bh torx black

M4x10 bh torx black

M4x12 bh torx black

M4x8 cs torx black

M4x10 cs torx black

M4xS5 set allen raw

M4x3 set allen raw

M4 nut lock PA shiny

M4 washer 4,3/12x1 black
M35x16 bh torx black

M5x12 ph torx tapt black
M5x12 bh torx black

M5x10 fh torx tapt shoulder black
M5x50 bh torx shiny

M5x16 ch allen 12.9 black

M5 screw retainer 4,4/7,8x0,35
M6 washer 6,4/12x1,6 black

PT 5x12 ph pz black

Eco-syn 4x16 ph torx black
Eco-syn 5x20 ph torx black
Eco-syn 3x12 ph torx black
Eco-syn 3x10 ph torx black
DELTA PT 3x10 cs torx black
3,2x11,5 rivet cs st-st 7,4-9 shiny
3,2x14,5 rivet st-st 1-6 shiny
3,2x9,5 rivet st-st 1,1-4 shiny
4,8x10,5 multigrip rivet st-st 1,5-6,0 shiny


http://www.lightparts.com/

LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

08222025
08230116
08230118
08230119
08240115
08261000
17821150
23822680
62401674
62401680
62401672
62401671
23404430
16760131
16760560
19060970
62401019
62401011
62401633
23823000
23600470
17720210
17760380
23822890
23822730
62409731
23404490
23404500
20800300
23404660

4x10 Spring Pin DIN 1481
10 starlock brown

o4 circlip shiny

06 circlip shiny

1/4-turn pedestal

Spacer 93,2/06x2 brass

14 size motor spacer 1,5mm
Base bottom center cap

Base chassis assy

Base enclosure

Base fan assy

Base filter assy

Base support

Bearing 5/11x5 685-ZZ N3
Bearing 55/72x9 61811-ZZ N3
Belt lock

Belt pulley assy

Belt pulley assy 914 w4,5
Belt tensioner assy

Cable tie bracket

Center funnel

Compression spring 8.4/1.0x22
Conical spring for gobo ©¥27,9
EMC top lid fan side

EMC top lid filter side
Encoder magnet retainer assy
Fan holder

Fan mount spacer

Filter foam

Foot


http://www.lightparts.com/

LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

16520130
16300600
17320450
33120127
16800100
37041004
37001201
23822640
23404340
62334098
23822990
23403640
17821100
62401010
23822620
17760570
62401636
62401637
62110059
62112001
62110060
62110062
62110028
62112000
62110033
62110003
13200007
37000201
13200034
23404440

Friction damper @5

Gobo sun wheel adaptor MAC II1

Gobo wheel adaptor MIII

Label MAC Quantum base PCB connections
Linear ball bushing LMEK6LUU-BR L55/0
Liquid Gap Filler 3500S35

Loctite 5927 red silicone high temp.
Lollipop

Lollipop support

Magnet retainer assy

Main board enclosure plate

Module guide

Motor adjust bracket

Motor assy

Motor plate

¥15,60/1,0 snap ring

Pan bearing retainer assy

Pan shaft with spring

PCBA Absolute sensor

PCBA DCDC 900W

PCBA Dual hall sensor

PCBA Fan connector board

PCBA Hallsensor, Vertical Header, SMD
PCBA PFC 900W

PCBA, Connector 5 XLR RDM, w CM Filter
PCBA, Switch sensor

Rubber grommet DA 60/90/20

Sikaflex 521 Clear 90 C

Silicone grommet

Slide lock


http://www.lightparts.com/

LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

17821230
17801150
18300310
17740080
17740010
17740310
17740090
62401023
62401642
62401641
62401639
23404380
18000460
16040940
16040800
16040240
16040680
16001530
16001540
16001500
16001560
62401670
23404650
23404630
23404640
33002550
33002544
33002543
23404390
62401660

Spacer for pan stop

Spacer ¢6x5,1/04,9x1,5
Switch retainer

Tension spring D10,4-d1,2x27
Tension spring D3-d0,6x21,2
Tension Spring D4,5-d0,63
Tension spring D4/d0,55x21,2
Tensioner assy

Tilt axle assy drive side

Tilt bearing assy drive side
Tilt bearing assy lock side

Tilt lock cap

Tilt stop bracket

Timing belt 100 S3M 528
Timing belt 135 MXL 8,0
Timing belt 92 MXL 4,0
Timing belt T2,5-305-06 CF
Timing wheel MXL-20 w9 05
Timing wheel MXL-27 w9 05
Timing wheel S3M-18 w11 o8
Timing wheel T2,5-24 w7
Timing wheel with magnets
UI button cover

UI buttons

UI display and USB gasket
Voltage insulation DMX-power
Voltage insulation fan side
Voltage insulation filter side
Wire guard

Yoke chassis assy


http://www.lightparts.com/

LightParts

2507 HOWARD LANE, AUSTIN, TX 78728
WWW.LIGHTPARTS.COM

62409728 Yoke pulley assembly
23404510 Yoke shell


http://www.lightparts.com/

